PGDM Trimester IV
End Term Examination September 2014
International Finance & Trade

DM 413

Time 2.30 hours MM 50

This is a closed book examination. Use of ordinary calculator is permitted. In case of any
doubts please make reasonable assumptions and proceed. Please write your name and
roll no on the question paper as soon as you receive the same

Section A 15 Marks

There are five questions in this section . Attempt any three questions Each question
carries five marks.

1.

-

1)

Assume that the Japanese Govt relaxes the control on imports by Japanese Companies.
Other things being equal , how should it affect US demand for Japanese Yen?
Assume that the spot rate of the British Pound is $1.73. The expected rate one year from
now is assumed to be $1.66.What percentage depreciation does this reflect?
When should a speculator purchase a call option on an Australian dollar?
How can the central bank use indirect intervention to change the value of a currency?
Shouldn't the IFE discourage investors from attempting to capitalize on higher foreign
interest rates?

Section B 20 Marks
There are three questions in this section . Attempt any two questions Each
question carries ten marks
Jim Logan, owner of the sports export company is concerned about the value of the
British Pound over time because his firm receives the pound as payment for footballs
exported to the United Kingdom. He recently reau that Bank of England (the central bank
of the United Kingdom) is likely to intervene directly in the foreign exchange market by
flooding the market with British Pounds.

Forecast whether the British Pound will weaken or strengthen based on the information
provided. "

How would the performance of sports export company be affected by the Bank of
England'’s policy of flooding the foreign exchange market with British Pound ( assuming
that it does not hedge its exchange rate risk)



2)The one year risk free rate in Mexico is 10% and one year risk free rate in United States Is
2%. Assume that the interest parity exists . The spot rate of Mexican Peso is 0.076 US
Dollar.

e What is the forward premium

e What is 1 year forward rate ?

e Based on the International Fishers Effect , what is the expected change in the spot rate
over next year

e If the spot rate changes as expected according to IFE what will be the spot rate in one
year.

3) The following transactions (expressed in U.S. $ billions) take place during a year.
Calculate the U.S. merchandise-trade, current-account, capital-account, and financial-
account balances.

a. The United States exports $300 of goods and receives payment in the form of foreign

demand deposits abroad.
b. The United States imports $225 of goods and pays for them by drawing down its foreign

demand deposits.
c. The United States pays $15 to foreigners in dividends drawn on U.S. demand deposits

here.
d. American tourists spend $30 overseas using traveler's checks drawn on U.S. banks

here.

e. Americans buy foreign stocks with $60, using foreign demand deposits held abroad.

f. The U.S. government sells $45 in gold for foreign demand denosits abroad.

g. 'In a currency support operation, the U.S. government uses. its foreign demand deposits
to purchase $8 from private foreigners in the United States.

Section C 15 marks ( Compulsory)

Merck Inc. is a pharmaceutical company. It is not currently exporting its products to India.
However, it is proposing to establish manufacturing facility in India in the near future.

The Company to be set up in India is to be a wholly owned affiliate of Merck Inc. which will
provide all funds needed to build the manufacturing facility. Total initial investment is estimated
at Rs.50, 000,000. Working capital requirement, estimated at Rs. 5,000,000, would be provided
by a local financial institution at 8 per cent per annum, repayable in five equal instalments
beginning on Decembér 31 of the first year of operation. It the absence of this concessional
facility, Merck would have financed these requirements by a loan from its bankers in the United
States at 15 per cent 2er annumi.

The cost of the entire manufacturing facility is to be depreciated over five years on a straight-line
basis. At the end of the fifth year of operation, all remaining assets would be taken over by a
public corporation to be designated by the Government of India with no compensation.

Sales, Prices and Exchange Rate Data



Sales, price and exchange rate projections are presented in Table below:

e Variable costs are Rs. 600 per unit in year 1 and are expected to rise by 15 per cent each
year.

e Fixed costs (other than depreciation) are Rs. 20 million in year 1 and are expected to rise by
10 per cent per year.

Year Sales in Units Unit Price Exchange Rate
1 2,00,000 Rs. 1,000 Spot rate Rs. 42.20/$
2 2,25,000 Rs. 1,500 42.50/%
3 2,50,000 Rs. 1,800 42.60/%
4 2,75,000 Rs. 2,000 42.80/%
5 3,00,000 Rs. 2,200 43.50/%

Other Information

. All profits after tax realized by the affiliate are transferable to the parent at the end of each
year. Depreciation funds are to be blocked until the end of vear 5. These funds .may be
invested in local money market instruments, yielding to a tax-free 15 per cent per annum.
When the operating assents are turned over a local corporation, the balance of these funds
including interest, may be repatriated.

e The income tax rate in India is 48% but there are no withholding taxes on transfer of
dividends. Dividends received by Merck Inc. in the United States would be subject to a 50%
per cent tax with credit allowed for taxes paid on affiliate” income abroad.

e Merck Inc. used a 14 per cent weighted average cost of capital for evaluating domestic
projects similar to the ones planned in India. For foreign projects in developing countries a 6
per cent political risk premium is added.

Based on the above information, what is your advice to Merck Inc?
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